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Question 1
Question Type: MultipleChoice

If a windows host is started for the first time, if it uses DHCP to obtain an IP address, what is the source IP address of the first packet

sent by this host?

Options: 
A) 169.254.2.33

B) 0.0.0.0

C) 127.0.0. 1

D) 255. 255. 255.255

Answer: 
B

Question 2
Question Type: MultipleChoice



The network administrator configures the RTA on the Huawei router as shown in the figure. If a user needs to be authenticated in the

authentication domain 'huawei', the following description is correct.

Options: 
A) 'authenti cati on-scheme aul' authentication will be used, if 'aul' is deleted, 'au2' authentication will be used

B) 'authenti cati on-scheme au2' authentication will be used, if 'au2' is deleted, 'aul' authentication will be used

C) Will use 'authenticati on-scheme aul' authentication

D) Will use 'authentication-scheme au2' authentication

Answer: 
D

Question 3
Question Type: MultipleChoice

A company has 50 private IP addresses. The administrator uses NAT technology to connect the company's network to the public

network, but the company has only one public network address and is not



fixed. Which of the following NAT conversion methods meets the requirements?

Options: 
A) NAPT

B) Basic NAT

C) Static NAT

D) easy-ip

Answer: 
D

Question 4
Question Type: MultipleChoice

The config mode is the default ACL matching order on Huawei devices.

Options: 



A) True

B) False

Answer: 
A

Question 5
Question Type: MultipleChoice

The configuration information of a certain port of the switch is shown in the figure, then this port carries VLAN TAG9 when sending data

frames carrying which VLAN.

Options: 
A) 1, 2, 3, 4, 6,100

B) 2,3, 100

C) 2,3, 4,6.100

D) 1,2,3,100



Answer: 
B

Question 6
Question Type: MultipleChoice

According to the command shown in the figure, which of the following descriptions is correct:

Options: 
A) The PVID of GigabitEthernet0/0/1 port is 1

B) The PVID of GigabitEthernet0/0/2 port is 10

C) The PVID of GigabitEthernet0/0/2 port is 1

D) The PVID of GigabitEthernet0/0/1 is 10

Answer: 
C, D



Question 7
Question Type: MultipleChoice

What is the total length of the port ID in the spanning tree protocol?

Options: 
A) 16

B) 4

C) 2

D) 8

Answer: 
A
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